## ROYAL HIGH SCHOOL FP CRICKET CLUB SEASON 1954

## 1st X1

		LS. F					·	954
APR	24	н	MURRAYFIELD		5	115	10	W
MAY	1	A	DUNFERMLINE	102	8	122	10*	D
	8	н	HERIOT'S FP	108	10*	72	10	w
	15	A	LEITH FRANKLIN	134	10*	36	10	w
	17	A	MANDERSTON	54	4	48	10	w
	22	н	EDIN. ACADS .					OFF
	29	A	MELVILLE COLL. FP.	70	10	86	*	L
JUN.	5	A	GRANGE	203	8*	205	3	L
	9	н	EDIN. UNIVERSITY	97	10	153	6*	L
	12	н	WATSONIANS	75	10*	76	5	L
	19	A	CARLTON	141	6	140	10*	w
	26	н	STEWART'S COLL. FP.	49	10*	50	2	L
JUL.	3	н	GLASGOW HS. FP.	121	5*	109	8	D
	10	A	SELKIRK	119	8*	110	8	D
	17	н	ST. BOSWELLS	161	5	157	7*	W
	21	н	R.H.S. P.P.	135	.6*	79	10	w
	24	н	HAWICK & WILTON	133	3	131	10*	W
	31	н	STENHOUSEMUIR	145	8*	148	7	L
AUG.	7	н	KIRKCALDY	119	8	117	10*	W
	14	A	DRUMPELLIER	70	6*	*	*	D
	21	н	BRUNSWICK					OFF
	28	н	PERTHSHIRE	73	7	132 -	6*	D
SEPT.	4	н	TRINITY ACADS.	ררו	5*	55	10	W
	1)	A	GALA		•	•	·	OFF
			P.21 W.10 D	.5 L.6	0.3			
		RHS. P	P. : 2403 RUNS	152 WILKETS :	AVERAGE	15.80		
		OPPONEN	TS : 2141 RUNS	162 WICKETS .	AVERAGE	13.21		

DL. ANDERSON	4	4	•	13	25	6.25						
J. CROSBIE	13	6	•	2	5	0.83						
PS. DAVIES	3	3		13	16	5.33						
PAJ. GARDINER	6	5	ι	21	35	8.75	3	í	5		œ	
DJ. GILROY	20	16	7	18	117	13.00	8	1	24	١	24.00	
JS. GLENDINNING	7	2	2	0*	0	0	464	6	156	n	14.18	
KA. GRANT	12	11		21	52	4.72						
TB . HA MILTON	16	13		54	143	11.00						
AW. HARPER	21	18	•	30	157	8.72						
DR. LAWRENCE	19	12	6	32*	104	17.33	2184	68	487	36	13.52	
DF. MANN	2	2		6	9	4.50						
JB . MICHIE	14	9	5	16*	49	12.25	1402	30	333	21	15.85	
RD. MURRAY	1	*	*	*	*	*	1		2		œ	
JB. ROBERTS	20	19	4	48	309	20.60	250	78	490	44	11.13	
FO . THOMAS	20	20	5	106*	709	47.26	10	3	14	2	7.00	
AMC. THORBURN	21	16	5	26*	155	14.09	1604	20	492	32	15.37	
DS. VALENTINE	3	3		2	2	0.66	5	3	2	2	1.00	
EW. WILSON	20	20		44	321	16.05	2		. 14	1	14.00	
G- WISEMAN	8	8		30	71	8.87						

1954											
1,754											
					2						
TB. HAMILTON	54	٧.	GRANGE								
FO.THOMAS	80*	v.	GRANGE								
	67*	٧.	GLAS . HS . PP.								
	73*	٧.	HAWICKY WILTON								
No and the second			STENHOUSEMUIR								
	106	۷.	TRINITY ACADS.					16 A.			
					-						
JS. GLENDINNING	6-58	٧.	KIRKCALDY								
DR. LAW RENCE	5-61	v.	ST. BOSWELLS								
JB. MICHIE	7-42	٧.	CARLTON		1						
JB. ROBERTS	7-14	v.	LEITH FRANKLIN								
	5.30	٧.	HAWICK & WILTON								
AMC. THOREURN	5.35	٧.	MURRAYFIELD								-
			and the second	1							

1954

			1	RHS F	P	OPPONE	NTS	
APRIL	24	Н	PENICUIK 2" II (F)	185	10*	55	10	4
MAY	1	A	MUIRHOUSE	79	10*	50	10	W
	8	A	HERIOT'S F.P. 2"XI	72	10*	78	ł	7
	15	H	LEITH FRANKLIN 2" II (F	104	10*	42	10	W
	17	H	JESTERS	60	10*	63	10	L
	22	Н	MURRAYFIELD					OFF
4	29	A	MELVILLE COLLEGE F.P.2					OFF
JUN .	5	Н	INNERLEITHEN	56	3	55	10*	W
	12	А	WATSONIANS 2" XI	58	10	175	10*	L
	19	Н	CARLTON 2" XI (*)	99	10*	92	10	W
	26	A	STEWART'S COLLECE F.P. 2"XI &	48	10*	49	7	L
Jul.	3	H	NEWINGTON	73	10	108	10*	L
	10	Н	BURNTISLAND	98	10*	72	10	W
	17	Н	LONDON ROAD	55	2	54	lo*	W
	24	Н	WEST LOTHIAN COUNTY 2 XI	212	7*	99	8	D
	31	А	STENHOUSEMUIR 2					OFF
AUG.	7	А	KIRKCALDY 2					OFF
	14	Н	PORTOBELLO ST. JOHN	91	10*	87	10	W
	21	A	MUSSELBURGH					OFF
	28	H	MEADOWBANK	49	6	48	10*	W
SEP	4	A	DUNBAR	99	10*	102	7	L
	11	A	LEITH ALBION	87	10*	4	10	N

P.17 W.10 D.1 L.6 OFF. 5

ROYAL HIGH SCHOOL F.P. : 1525 RUNS: 148 WICKETS: AVERAGE 10-3 OPPONENTS : 1270 RUNS: 151 WICKETS; AVERAGE 8-4

(A) EAST LEAGUE GRADE A

MAY 1 H	CAPT. U.T. CI	3	
	DENTAL HOSPITAL	67 10	84 10*
8 H	ST. MARY'S	39 10*	74 10
JUNE 5 H	BRUNSWICK A	48 6	101 9*
19 1	DUNBAR	36 10*	40 7
26 1	KENNOWAY + WINDY GATES	42 10	107 8*
	P.5 W.O D.A. L R.H.S.F.P. : 232 RUNS : 4		- 01+